PSE 476
Homework #16
Due 3/4/04

1. Which of the following statements is not true? (1 point) 
a) Brightness is a measurement of the amount of light reflected from paper.

b) The amount of light reflected from paper is a mathematical function of the amount of light adsorbed and the amount scattered.

c) Pulp brightness and whiteness are not the same thing.

d) Pulp brightness is an absolute measurement of light reflected.

2. Which of the following bleaching chemicals is not added as a gas? (1 point)

a) Chlorine

b) Chlorine dioxide

c) Oxygen

d) Ozone

3. Which of the following bleaching chemicals is not an oxidant? (1 point) 

a) Oxygen

b) Chlorine

c) Hydrogen peroxide

d) Hydrosulfite (sodium dithionite)

e) Chlorine dioxide

4. In bleaching sequences, what does C stand for? (1 point) 

a) Chlorine

b) Chlorine dioxide

c) Hypochlorite

5. In bleaching sequences, what does O stand for? (1 point) 

a) Oxygen

b) Hydrogen peroxide

c) Ozone

6. In bleaching sequences, what does H stand for? (1 point) 

a) Hydrogen peroxide

b) Sodium hydroxide

c) Hypochlorite

d) Hydrosulfite

7. In bleaching sequences, what does E stand for? (1 point) 

a) Enzymes

b) Ozone

c) Sodium hydroxide

8. What does having 2 compounds in a parenthesis mean? (1 point) 

a) The chemicals are added together.

b) There are equal amounts of each chemical added.

c) There is no washing stage between chemical treatments

9. What does this mean (O+E) (1 point)
a) That there is no washing between the oxygen and NaOH extraction stages. 

b) That the oxygen and the NaOH are added together.
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